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You should place your Admission Form on your desk for the whole session.
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During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.
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Contestants should finish all questions in this 45-minutes written test.
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Write your name, admission number, seat number and school name on the front cover of your answer
sheet.
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You can only use the rough work sheet provided by the organizer.
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The use of calculators is NOT allowed.
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Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.

TR B B 0 3 9999 2 B e g T o 3 1000 hE R AE 10, 10k
r HeF o

Each answer must be given as an integer between 0 and 9999. In case of an answer less than 1000,
leading zeros should be included to make up four digits.
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Under normal circumstances, contestants are not allowed to leave the contest venue before the end of this
session.
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Any contestant who violates the rules and regulations of the competition might risk disqualification.
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If you have any queries, you should contact the officer-in-charge immediately after the competition. Late

queries will not be entertained. The decision of the organizing committee will be final.
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Time Allowed:45 minutes Total marks: 400
1. K a+2b+3c =36 it FfcfE el p o (16 ~)
Find the number of positive integral solutions of the equation a+2b+3¢ =36. (16 marks)
2. KTIE N o (16 &)
Find the value of the following expression. (16 marks)

112+ 122+ 132+ 142+ 152 + 162 + 17% + 182 + 192 + 20°

3. *®* A-B~-C-D~E~-F~-G-HEr?*a,-% Afr B &£~ %5 lcmir

2cm e fABA | e ff o (22 »)
In the figure, A, B, C, D, E, F, G and H are squares. Given that the sides of A and B are 1 cm and
2 cm respectively. Find the area of the rectangle I. (22 marks)
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4, —F U H = ,‘al+—1 »HeY 45 B> Co ?K{E e B A+ B+ C onficie &
37 A -
B+—
C
59 (20 4)
44 : 1 . e
— can be written as 1+ — while 4, B and C are positive integers,
A+ 1
B+—
C
what is the value of 4 + B + C? (20 marks)
5. - FEAns @ > & 688cm ~ B2 288cm v * jpfe < ] el 3 Ak g R 0 & B 12
AR FEOEE R BRSO ? (18 %)

A rectangular room of length 688cm and width 288cm is covered with square wooden floors of

the same size. What could be the greatest length of each square wooden floors? (18 marks)
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i B#F A B> CHfrDe 2 wA4t 2 Bjpd 2°C%kM 2$rD",4r?J‘1 2 it % 4p
oo Figw BHcF niiiel 999 KA thiE o (26 )
There are four numbers, A, B, C and D. It is given that adding 2 to A, subtracting 2 from B,

multiplying 2 with C and dividing D by 2 give the same results. If the sum of these four numbers
equals to 999, find A. (26 marks)

i kF 12236789 > THDFEY - REETILS B RED &P DR
Bl e 2 £ 3842 25 Ra+tb+e i e 24 »)
Please fill in the numbers 1, 2, 3, 6, 7, 8 and 9 into the circles in the figure below. So, the
difference between the numbers in any two circles connected by the line segment is greater than
2. Find the value of a + b + c. (24 marks)

Fa brcird En F#,xit® atbtctd=axbxcexd> F at+b+c+d g o

(25 »)
If a, b, c and d are positive integers such that a + b + ¢ +d = a x b x ¢ x d, find the value of
atb+c+d. (25 marks)

R 1PP-22 -3 4+4° -5 46" +7° -8 +9°—10° —11* +12° —13* +14° +15* 16" +---
+2017% — 20182 — 2019° + 20202 — 2021% + 20227 + 2023% — 2024° thig. o (24 )
Find the value of 12 —2% —3? +4? -5% +6° + 7> —82 + 9 —10% —11% +12% —13? +14?
+15% =162 +---+2017% — 2018% — 2019% + 2020% — 2021? + 20227 + 2023 — 20242 .

(24 marks)
3+7+10+17+27+ ... +664279 + 1074826 + 1739105 = 45530XY » X+Y it &_%
s (27 ~)
3+7+10+17+27+ ... +664279 + 1074826 + 1739105 = 45530XY, what is the value of
X +Y? (27 marks)

Ra14d P RE P46 > L d s HPpRIBEAF R 4ok P e d L Ef25 % %
FoMAET AEPRIZX > REELd e EpRFoORET IO FT U2 (30 &)
A project can be completed in 46 days by A alone, then 18 days by B alone. If A and B can finish
it together in 25 days, now A does it alone for 13 days, then B does it alone, how many more

days will it take to complete? (30 marks)
F3528 » 5292 v 8064 s~ 2 Flik o (28 »)
Find the H.C.F. of 3528, 5292 and 8064. (28 marks)
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Ratss 70 1[3‘\5_/311—\%-?&77? (28 %)
There are 100 light bulbs lined up in a row, each with a sequential number. Initially, all the bulbs
are off. In the first round, all the bulbs are turned on. In the second round, only the bulbs that are
multiples of 2 will be toggled (on to off, off to on). In the third round, only the bulbs that are
multiples of 3 will be toggled. This continues until the 100th round. How many bulbs are lit at
the end? (28 marks)

0000 . 99

10
14, 3B &% AiEL R U THA o 3B 2507 A A o fnE s B A EE o

(30 ~)
Jason used sticks to form the following figures. A figure in the pattern has a total 2507 sticks.
What is the Figure Number? (30 marks)

(R 1) (R 2) (% 3)
(Figure 1) (Figure 2) (Figure 3)

\-q

15. TH PR G EfoRAAT o JREEIARFA T OB o FT 22 ] o &2 = aig
ﬁiq\ﬁﬁ&*’BJMr}aﬁ;iéueaé”FHﬂém%‘/’a\;i&‘. (32 &)
There are only novels and textbooks on the bookshelf. There are twice as many novels as
textbooks. If two-fifths of the novels and three-quarters of the textbooks are hardcover, what

fraction of all the books on the bookshelf are hardcover? (32 marks)

16. & F 4L} 2024 feit+ o | ﬂu 4&5 ERaRisl o S S AFE R R
IR S B rt | ;519 LA B 9 (34 &)
There are 2024 pieces in the box. DaV1d takes an equal number of pieces each time, with the
number being greater than 1, and he takes all the pieces in the last turn. How many different ways
are there for David to take the pieces? (34 marks)

5% END OF PAPER
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